MATH 3705A
Corrections to the Textbook

Page 11, Theorem 1.4
Replace Equation (1.8) by

L{f"()} = s"L{f(t)} = s/(0) = f(0)

Page 27, Example 1.43

Replace the last line by
2 (2 N 2 2 T 1 N 1
s3 s s s s s

Page 157, Example 3.7, fourth line
Replace k = +1, £2, --- by k=0, £1, £2, --- |

Page 158, third line below Figure 3.3
Replace k = +1, £2, --- by k=0, £1, £2, --- |

Page 221, Exercise 2

Replace uz, = up by gy = Uy

Page 407, Solution 10(e)
In yy(t), replace t — 1 by t — m:

nt) = £ {ﬁ} _ \/%u(t —m)etsin [V3(t )]

Page 497, Solution 2

Replace uz, = ur by gy = Uy



